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Wave optics     اپتیک موجی



2



Electromagnetic spectrum with visible light highlighted
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γ = Gamma rays

HX = Hard X-rays

SX = Soft X-Rays

EUV = Extreme-ultraviolet

NUV = Near-ultraviolet

Visible light (colored bands)

NIR = Near-infrared

MIR = Mid-infrared

FIR = Far-infrared

EHF = Extremely high frequency (microwaves)

SHF = Super-high frequency (microwaves)

UHF = Ultrahigh frequency (radio waves)

VHF = Very high frequency (radio)

HF = High frequency (radio)

MF = Medium frequency (radio)

LF = Low frequency (radio)

VLF = Very low frequency (radio)

VF = Voice frequency

ULF = Ultra-low frequency (radio)

SLF = Super-low frequency (radio)

ELF = Extremely low frequency(radio) 6

https://en.wikipedia.org/wiki/Gamma_ray
https://en.wikipedia.org/wiki/X-ray
https://en.wikipedia.org/wiki/Ultraviolet
https://en.wikipedia.org/wiki/Visible_light
https://en.wikipedia.org/wiki/Infrared
https://en.wikipedia.org/wiki/Extremely_high_frequency
https://en.wikipedia.org/wiki/Super-high_frequency
https://en.wikipedia.org/wiki/Ultrahigh_frequency
https://en.wikipedia.org/wiki/Very_high_frequency
https://en.wikipedia.org/wiki/High_frequency
https://en.wikipedia.org/wiki/Medium_frequency
https://en.wikipedia.org/wiki/Low_frequency
https://en.wikipedia.org/wiki/Very_low_frequency
https://en.wikipedia.org/wiki/Voice_frequency
https://en.wikipedia.org/wiki/Ultra-low_frequency
https://en.wikipedia.org/wiki/Super-low_frequency
https://en.wikipedia.org/wiki/Extremely_low_frequency


Wave optics اپتیک موجی
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Because of this periodicity, increasing all x by λ should reproduce the same wave. 

Mathematically, the wave is reproduced because the argument of the sine function is 

advanced by 2π. Symbolically, 
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Spherical waves may also be represented by the harmonic wave equations developed for

plane waves, with one modification: The amplitude must be divided by the distance r to give

The spherical wave, as it propagates further from the source, decreases in amplitude,  in contrast 

to a plane wave for which amplitude is constant. 
14



The energy density associated with the electric field in free space is 

and the energy density associated with the magnetic field in free space is 
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:استشدهدادهالکترومغناطيسیموجيکتابششدت:تمرين

.کنيدحسابراموجاينمغناطيسیوالکتريکیميداندامنه
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The resultant displacement is the sum of the separate displacements of the constituent waves: 

The same principle can be stated more formally as follows. If Ψ1 and Ψ2 are  independently 

solutions of the wave equation, 

where a and b are constants, is also a solution. 
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Electric field:
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We conclude that the resultant wave ER is another harmonic wave of the same  frequency ω

with amplitude E0 and phase α

The diagram makes apparent the proper generalization of above Eqs. for N such harmonic 

waves: 
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if phases are random, the phase  differences are also random. The sum of cosine terms in Eq. 

above then  approaches zero as N increases, because terms are equally divided between  

positive and negative fractions ranging from — 1 to +1. This leaves 

0RI N I =

On the other hand, if the N sources are coherent, and in  phase, so that all α are equal, then 
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a given wave exists in both forward and reverse directions along the same medium. This

condition occurs most frequently when the forward wave experiences a reflection at some

point along its path. In an ideal situation, none of the energy is lost on reflection nor absorbed

by the transmitting medium. This permits us to write both waves with the same amplitude.

Forward and reverse waves are, respectively.

The resultant wave in the medium, by the principle of superposition, is 

This is not a moving wave whereas, a standing wave. This shows a space-dependent

amplitude of an oscillation.
26



There exist values of x where the amplitude of standing wave is zero for all t. these values

occur whenever:
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.تندهسانتشارحالدريکديگرجهتخلافيکسانسرعتويکسانبسامديکسان،دامنهباموجدو:تمرين

.استثانيهبرمتر200آنهاسرعتوهرتز2000آنهابسامد،10دوآندامنه

.بنويسيدراموجدواينمعادله

.کنيدحسابراموجدوايننهیبرهمازحاصلساکنامواجشکمسومينتاگرهاولينفاصله
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two waves with the same amplitude but differing in frequency and wave number be represented 
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Beat frequency

The overall effect is that the low-frequency wave serves as an envelope modulating the 

high-frequency wave. 

The velocity of the higher-frequency wave is then the phase velocity, 

the velocity of the envelope, called the group velocity, 

Phase and Group velocity
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When the velocity of a wave does not depend on wavelength, that is, in a non-dispersive 

medium, dvp/dk = 0, and phase and group velocities are equal. This is the case of light 

propagating in a vacuum, where Vp = Vg = с. In dispersive media, however, Vp = с /n, where 

the refractive index n is a function of λ or k. Then n=n(k), and 
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.کنيدحسابنانومتر700و400موجطولبرایراگروهسرعت:مثال
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پاشندگی     Dispersion 
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it is shown that for a given small angle
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λ=400 nm: n = 1.5308

λ=550 nm: n = 1.5185

λ=700 nm: n = 1.5131

λ=400 nm: n = 1.8454

λ=550 nm: n = 1.7912

λ=700 nm: n = 1.7718
1.5308 1.5131

0.034
1.5185 1

V
−

= =
−

0.093V =

BK7 glass

SF11 glass
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برعمودنينهمچويکديگربرعمودکهاستمغناطيسیوالکتريکینوسانیميداندوازمتشکلالکترومغناطيسموج

يکیالکترميدانارتعاشراستایهمانالکترومغناطيسموجقطبشراستای.کنندمینوسانموجانتشارراستای

.استشدهقرارداد

:قطبشانواع

خطیقطبش.1

ایدايرهقطبش.2

بيضویقطبش.3

راستایردهرگاهبيضوی،وایدايرهقطبشدر.کندمینوسانثابتراستایيکدرالکتريکیميدانخطیقطبشدر

.چرخدمیثابتسرعتباانتشارراستایبرعمودصفحهدرالکتريکیميدانبردارکنيمنگاهآنبهپرتوانتشار

Polarization  قطبش

41



42

0 0

0 0

0 0

ˆ ˆexp( )

0,         linear polarization 

      circular polarization2

      elliptical polarization2

 

yx
ii

x y

x y

x y

x y

x y

x y

kz t E e i E e j

E E

E E



   


  


  

= − = +

 = − =


 = − = 

 =


 = − = 

 

0 0E E E



43



44



.ودشمیتشکيلتابشنقطهبرعمودخطوتابشیپرتوراستایتوسطکهایصفحه:تابشصفحه

.باشدتابشصفحهبرعمودالکتريکیميدانارتعاشراستایهرگاه:Sنوعقطبش

.باشدتابشصفحهبرمماسالکتريکیميدانارتعاشراستایهرگاه:Pنوعقطبش

برمماستابشصفحهمقابلشکلدر

نمايندهنقاطپس.استاسلايدصفحه

تابشصفحهبرعمودکهاستSقطبش

کهاستPقطبشنمايندهپيکانهاواست

.استتابشصفحهدر
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 polarizing power: 
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:نيدکثابتبالاتعريفبهتوجهباتمرين
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−
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هرگاهتاسقطبشگرازعبوریشدتکمينهوبيشينهحسببررابطهاين

.بچرخانيمفرودیتابشراستایحولدرجه180ازبيشراآن
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:موجنيمتيغهکاربرد

بااگر.بوداهدخوورودیتابشبايکسانقطبشیدارایخروجیباشدموجنيمتيغهکندياتندمحورراستایدرتابشقطبشراستایهرگاه

.استچرخيدهورودیبهنسبتزاويهاينبرابردوخروجیتابشقطبشبسازدزاويهمحورهاازيکی

ورودیبهنسبتدرجه90خروجیقطبشبسازددرجه45زاويهموجنيمتيغهکندياتندمحوربافرودیتابشقطبشراستایاگرپس

.چرخيدخواهد

:موجربعتيغهکابرد

(چپگردياراستگرد)دايرهایيابيضویقطبشبهخطیقطبشتبديل
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1 1
:  Jones vector for left circularly polarized

1 1
  :  Jones vector for right circularly polarized

circular polarization: =
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.بودخواهدقطبشینوعچهدارایحاصلتابشباشندداشتهنهیبرهميکديگر
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تغييررتاثيطوريکهاستاپتيکیقطعههربرایجونزماتريستعريفجونزنمادگذاریکاربردهایديگراز

.شودمیتعريفاپتيکیقطعههربرای2×2ماتريسيکمنظوربدين.دهدنشانراورودیتابشقطبش

  : Jones Matrix of the optical element

 : incident polarixation

 : output polarixation
B

a

a

A

B

b

c d

A

B

A

b

c d

A

B
=

 
 
 

 
 



 
 








 
  









 

















63



64

:کنيدتعيينراخروجیقطبشنوع.شودمیموجچهارکتيغهيکوارددرجه45زاويهباخطیطبيدهتابشی:مثال
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     
=     

     

     
=     − −     
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Orthogonal Polarization

:(همبرعمود)متعامدقطبش

:گوينددمتعامراآنهاقطبشباشدبرقرارقطبيدهتابشدوالکتريکیميدانبرداربرایزيرشرطهرگاه

1 0 1 0
0 0 0

0 1 0 1



       
 =  = − =       

        .هستندمتعامدyوxراستاهایدرخطیقطبشدومثلا

ایهدايرقطبشدومثلاکهطوریبهاستهندسیتعامدازعامترتعريفاين

.آيندمیحساببهمتعامدنيزچپگردوراستگر
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Jones vector of Jones vectore of
0

left circularly polarized right circularly polarized

1 1 1 1
1 1 0

i i i i





   
 =   

   

       
 =  = − =       −       

:کهچراهستندمتعامدوبيضویقطبشحالتجفتمثلاياو
2

i

 
 
 

1

2i

 
 − 

2 1 2 1
2 2 0

2 2i i i i



       
 =  = − =       −       
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:کردقسيمتمتعامدمولفهدوبهتوانمیرادلخواهقطبشنوعهرکهگفتتوانمیحالمتعامدهایقطبشتعريفبا

درحقيقیهایدامنهباخطیقطبشدوبهدلخواهقطبشيکتقسيم

yمحوروxمحورراستای

مختلطهایدامنهباچپگردوراستگردایدايرهقطبشدوبهدلخواهقطبشيکتقسيم
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متعامدهایقطبشجفتازهايینمونه



69

Amplitudes of Reflected and Refracted Waves .
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(TM==P)و(TE==S)نوعقطبشدوبرایعبوروبازتابضرايب

.شودمیتعريفزيرصورتبه

ش،تابزاويهحسببرقطبشنوعدوهربرایبازتابضرايبمحاسبهبهمنجرمرزیشرايطاعمال

.گرددمینسبیشکستضريبوشکستزاويه

بايدرايبضاينتابششدتعبوروبازتابدرصدمحاسبهبرای.دهدمیراالکتريکیميدانعبوروبازتابدرصدضرايباين:توجه

.استالکتريکیميدانمجذوربهمتناسبتابششدتچونبرسد2توانبه

نسبیشکستضريب
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وشتابزاويهحسببررابازتابضرايبتوانمیدکارت-اسنلقانونازاستفادهبا

.کردمحاسبهنسبیشکستضريب

ويهزاحسببررابازتابضرايبتوانمیهمچنيندکارت-اسنلقانونازاستفادهبا

.کردمحاسبهشکستزاويهوتابش

وگويندخارجیرابازتابباشد1ازبيشترنسبیشکستضريبمرز،يکازعبوردرهرگاه:قرارداد

گويندداخلیرابازتابباشد1ازکمترنسبیشکستضريبمرز،يکازعبوردرهرگاه
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Snel Law: sin( ) sin( )

internal reflection: 1

90  : =  sin( )c c

n

n

n

 

 

   

=

  

=  =

.باشددرجه90آنبامتناظرشکستزاويهکهتابشیزاويه:حدزاويه

.دهدمیرخداخلیبارتابشدرپديدهاين

:شدخواهندمختلطميدانبازتابضرايبآنگاهگرددحدزاويهازبيشتابشزاويهچنانچهداخلیبازتابدر

2 2 2 2sin( ) : sin( ) sin ( ) sin ( )c cn n n i n     =     − = −

Total Internal Reflection
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شودمیتعريفزيرصورتبهاستگيریاندازهقابلعملاکهتابششدتبازتابضريب

:استميدانمجذوربامتناسبشدتچون

R r r =

1
Total internal reflection: 

1

s

c

p

R

R
 

=
  

=

لکباشدحدزاويهازبيشتابشزاويههرگاهداخلیبازتابشدر

بازمیاوليهمحيطبهوشدخواهدبازتابيدهمرزازتابشانرژی

.گويندداخلیکلیبازتابشپديدهاينبه.گردد

ايندرنيزشبازتابمقدارکمترينالبتهوباشدمیيکسانقطبشنوعدوهربرایبازتابضريبحالتايندر:عمودتابشخاصحالت

.دهدمیرخحالا
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.بتابدشيشهسطحبرعمودپرتوهرگاهکندمیعبورتابشیانرژیدرصدچند1.5شکستضريببهشيشهازنورعبوردر:مثال

2

2

2

1

1

3 2 1
External reflection: 0.04 4%

3 2 1

2 3 1
Internal reflection: 0.04 4%

2 3 1

net reflection=4% 4% 8%

net transmision 100% -8% 92%

n
R

n

R

R

− 
=  

+ 

 −
= = = 

+ 

 −
= = = 

+ 

+ =

= =

.استشدهنظرصرفمرزدوبينتکراریبازتابهایازمحاسبهايندرالبته

1n = 1n =

1.5n =

0I 092% I



Brewster's angle

بقيهودهشبازتابآنازدرصدیمحيطدوبينمرزدرشودديگرشفافمحيطواردشفافمحيطيکازبخواهدالکترومغناطيسموجهرگاه

.دارندبستگیقبطشنوعوتابشزاويهمحيط،دوشکستضريببهعبوروبازتابفرنلضرايب.کندمیعبور

2 2

2 2

cos( ) cos( ) cos( ) cos( )
(1) (2)

cos( ) cos( ) cos( ) cos( )

sin( ) tan( )
(3) (4)

sin( ) tan( )

s p

s p

n n
R R

n n

R R

   

   

   

   

− −
= =

+ +

− −
= =

+ +

90+ =  ازکاملقطبيدهبازتابيدهموجيعنی.شودمیصفرPنوعقطبشبازتابضريبيعنی(4)معادلهحاصلکهحالتیدر

.استمعروفبروسترزاويهبهدهدمیرخپديدهاينکهتابشیزاويه.استPنوعازجزئیقطبيدهعبوریموجواستSنوع

2

1

90

sin( ) sin( ) sin( ) sin(90 ) cos( ) tan( )

B

B B B B B

n
n n n n

n

 

     

+ =

=  = − =  = =
75
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Grazingسطحبرمماستقريباتابش incident

90 cos( ) 0 , sin( ) 1

1s pR R

  =  = =

= =

90

بيش)بزرگونیکانفاصلهباعدسیيکتوسطليزرباريکه.شودمیاستفادهتوخالیفيبرهایدورنموجبریبرایخاصيتايناز

طولدروشدهبازتابآنازبالايیبسياردرصدشيشهسطحازبازتابدروشدهکانونیتوخالیفيبردهانهدر(مترسانتی100از

.شودمیهدايتفيبر



بهعبورینورواستSخالصقطبشدارایبازتابيدهنورپساستآمدهفرودشفافتيغهبربروسترزاويهتحتنورپرتو

عبورینوروشدهبازتابSقطبشازبيشتریدرصدموازیهایتيغهازمتوالیعبوربا.استPنوعازقطبيدهجزئیطور

.شودمیبيشترخلوصباPقطبشدارای

77

Brewster's angle



At normal incident (incident angle=0): R = 0.043996=4.4%

Brewster's angle

BK7 glass

At Brewster’s angle

ربروستزاويهتحتشدهتابيدهناقطبيدهنور%8حدود(آبی)نانومتر400موجطولدر

.استSنوعازکاملقطبيدهنوراينکهشودمیبازتابآنسطحازشيشهاينبه
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Brewster's angle

At normal incident (incident angle=0): R = 0.088278=8.8%

At Brewster’s angle

SF11 glass

تربروسزاويهتحتشدهتابيدهناقطبيدهنور%15حدود(آبی)نانومتر400موجطولدر

.استSنوعازکاملقطبيدهنوراينکهشودمیبازتابآنسطحازشيشهاينبه
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1.63(يگ-نئوديميمليزردومهارمونيک)نانومتر532موجطولبرایشيشهيکشکستضريب

.کنيدحسابراداردقرارهوادروقتیراشيشهاينبرایبروسترزاويه.است

1
1.63

tan( ) 1.63 tan (1.63) 58.5
1

B B
  −= =  = =

تيوبایدارکهگازیليزرهایدر.دارداساسینقشليزرهاخروجیکردنقطبيدهبرایپديدهاينازاستفاده

پرتوآنگاه.دبتابآنهابربروسترزاويهتحتليزرپرتوکهشوندمینصبطوریانتهادودرهاپنجرهاست

.گرددیمتقويتآينهدرونوهاآينهازبازگشتدرپرتواين.استقطبيدهجزئیطوربهپنجرهازعبوری

دريجتبهغالبقطبشدرصدرزوناتوردرونبرگشتورفتچنددروشدهتقويتبيشترغالبقطبش

معمولاجامدحالتليزرهایدر.باشدقطبيده%99ازبيشتواندمیليزرخروجیکهطوریيابدمیافزايش

میرقراخلاچمبريکدرونکريستالمواردبعضیدر.خوردمیبرشبورسترزاويهباکريستالخود

.اندشدهنصببروسترزاويهباآنانتهایدوهایپنجرهکهگيرد
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Two waves with the same frequency traveling in

different direction when coming together in a point

The irradiance measures the time average of the square of the wave amplitude. 

81



the first two terms correspond to the irradiances of the individual waves, I1 and I2. The 

last term depends on an interaction of the waves and is called the interference term, I12

2 2

0 1 0 2 0 1 2 1 2 122 .c E c E c E E I I I  =   +   +   = + +

The presence of the third term I12  is indicative of the wave nature of light, which can 

produce enhancement or diminution of the irradiance through  interference. 
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1

01

0

2I
E

c
 =

2

02

0

2I
E

c
 =

1 2

0 1 2

0 0

2 2
cos 2 cos

I I
c I I

c c
  

 
= =

84



85



86



87



88



89



:مثال

چشمهاگر.استمتر5پردهتافاصلهومترميلي1يكديگرازروزنهدوفاصلهيانگشكافدوآزمايشدر

كنيدحسابرامجاوربيشينهدوفاصلهباشدنانومتر633موجطولبانئون–هليونليزر

0.633 5000
3.165  mm

1

s
y

a

y


 =


 = =

( )m n

s
y y m n

a


− = − nتاmكمينهفاصلهياnتاmبيشينهفاصله

(2 1) ( 0, 1, 2, 3, ........)
2

n

s
y n n

a


= − = هاكمينهمكان

90

(2 (2 1))
2

m n

s
y y m n

a


− = − + nكمينهتاmبيشينهفاصله
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1
2



incident

amplitude is given by
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2

1
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An instrument designed to exploit the interference of light and the fringe patterns that result 

from optical path differences, in any of a variety of ways, is called an  optical interferometer. 

the  optical path difference between the two 

beams emerging from the interferometer is 

where the angle θ measures the inclination 

of the beams relative to the optical axis. 
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Assuming that the two interfering beams are of equal amplitude, the irradiance of the fringe 

system of circles  concentric with the optical axis is given by 

101



If d is of such magnitude that the normal rays forming the center of the fringe system that 

is, the center fringe is dark, then its order, given by 

is a larger integer. Neighboring dark fringes decrease in order outwards from the center of the 

pattern, as cos(θ) decreases from its maximum value of 1. 

an increase in the angular separation ∆θ of a given small fringe interval ∆m as 

the mirror spacing d becomes smaller, since 

Equation below suggests an experimental way of either measuring λ when ∆d is known or 

calibrating the micrometer translation screw when λ is known. 
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Mach-Zehnder interferometer. 

The incident beam of roughly parallel light is divided into two beams at beam splitter BS. 

Each beam is again totally reflected by mirrors M1 and M 2, and the beams are made 

coincident again by the semitransparent mirror M3. Path lengths of beams 1 and 2 around 

the rectangular system and through the glass of the beam splitters are identical. 

103

L
n

2

2

max

( 1)

2
( 1)

2
( ) ( )

2

( ) 1
2

nL L n L

k n L m

L n m

n m
L

n p m
L


 
















 = − = −

=  = − =

 = 

 = 

=  +



The term coherence is used to describe the correlation between phases of  monochromatic 

radiations. Beams with random phase relationships are, generally speaking, incoherent beams, 

whereas beams with a constant phase relationship are coherent beams. 
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ايدورهمتنهاهيتابع:(12-1)
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ظرندرهارمونيکاولينيعنیاولجملهدوفقط

هارمونيکهابقيهسهمازواستشدهگرفته

.استشدهصرفنظر

میمشاهده.استشدهگرفتهنظردر55شمارههارمونيکتا

ایهدروهباسينوسیتوابعکردنجمعباچگونهکهگردد

.ساختمربعیموجيکتوانمیچگونهمختلفبسامدی

1
... cos55

55
t



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Notice that the shorter the wave train of  (the smaller the lifetime), the wider is the central 

maximum. This means that the harmonic waves making important contributions  to the actual 

wave train span a greater frequency interval. We take the half-width of  the central maximum, 

or 2π/τ0, to indicate in a rough way the range of dominant frequencies required. 
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a measure of the frequency band centered around ω0 required to represent the harmonic 

wave train of frequency ω0 and  lifetime τ0, 

117
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around 11 km. 120
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For Fraunhofer diffraction, the source must be far enough away so that the wavefronts of light

reaching the slit are essentially plane. Of course, this is easily accomplished in practice by

placing the source in the focal plane of a positive lens. Similarly, we consider the observation

screen to be effectively at infinity by using another lens on the other side of the slit,

122



Let us set r = r0 for the wave from the interval ds at s = 0. Then for any other wave 

originating at the interval ds at height s, taking the difference in phase into account, the 

differential field at P is 
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دورفاصلهدرپردهرویشکافتکازپراشطرح

شکاف افقی

هپراشيده شدمقائنور در راستای 

شکاف عمودی

دهنور در راستای افقی پراشيده ش
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2 f
y D

b


 = = Diameter of the central peak

The beam diameter cannot be smaller than the limit applied by the relation above. This limit is 

called “diffraction limit”
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